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East, on a random line between Sections 1 and 12.
cn
Variation /g /4 > East.
=
\ 2
REFEZ e M’

22 //C/ "?KE’ C =1 -
%/é//%//‘// 7/,741,, Q/Mj/ /} //7
/%%Q - / cez [G P anl /T
jiV C e e K2t JE J/e ¥ S 2l
‘K///‘//jﬁi’ }y;/z'%,/\

v'%f(////(/ééx)/%za /ﬁm /z/w\ﬁj/%fo,
//¢¢zc//z
/}n/ SEDS > Cocrr—
£7

uZ?’ /4'4 777y R 2P Tz Fe 2 ZZ it /% e

\\

zan S le

Sz ezeecl /ZL /KC/ Zer 2=z, ’6//’

, r

& = — 5 Zioe
2%/ S5W /S V7 zrep C G oonet //Zﬁ///@// /Zz;w

é‘/;y // 2 //}M}://‘, e {4;‘;@:( D G PFE e pr . 1oL

s Feme T S //‘é;// 7 ///Wk

o7l /&7” 2 (o Lo 77 o6 oy ok

'z

~ \‘)
W
N
N
\
\;
I\
3

)

< ﬂ ;’»71‘; /, z //g;b, 2 /‘f o 7’/.\/1
%’?mmf ¢M//’c//§ 721 ,/7 //p{,@/\'

/ / I~ 2e Zec=, )2 Z/ o2 A«://Z,

Vi
/f/(

// 7~ P wé;;}ffé:;/ﬁ’/;»ﬂ

™




